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Year | Cashflow | 11=(-900)
P
1 200 _,|  -700
2 250 -450
3 300 -150
4 450 300
5 400 700
6 200 900
7 150 1050

300 — (—150) _ 0 — (—150)

4 -3
3 -150
X 0
4 300

X -3

150

SX-3=—->X
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]’ Payback in the 4™ year (X)

= 3.33 = 3year + 4month

-A



B- The Net present Value (NPV) can be obtained from the following equation (r = 23%)

Year | Cash flow Present;{//alues (P\IQ/

(n) (FV) PV =5~ 123
1 200 162.6

2 250 165.25

3 300 161.22

4 450 196.605

5 400 142.08

6 200 57.76

7 150 35.22

Total Present

Values (3, PV) 920.735

NPV = Z PV —1II = 920.735 - 900 = 20.735 thousand dollars



C- IRR is the discount rate when NPV Z 0. Mathematically. The solution to problems
involving IRR is by a trial-and-error solution
n
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t=1
250 300 450 400 200 1

200 50
+ + + + + + =900
[(1 +IRR)Y " (1+IRR)2  (1+IRR)3  (1+IRR)* (1+IRR)5 ' (1+IRR)® ' (1+IRR) 7]
2 5 3 45 4 2

. 1.5
[(1+IRR)1+(1+IRR)2+(1+IRR)3+(1+IRR)4+(1+IRR)5+(1+IRR)6+(1+IRR)7 =
Trial and Error:

9

. LHS — RHS
Second trial, IRR, = IRR, [1 + (T)]
IRR; LHS RHS IRR;
0.26 8.504 9 0.246
0.25 8.729 9 0.242
0.24 8.963 9 0.239
0.24
IRR = 24%
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B- The Net present Value (NPV) can be obtained from the following equation (r = 17%)

Year | Cash flow Present;{//ames (P\IQ/
n FV _ _
o ™ v (1+r)* 1170
L 10 8.547
2 25 18.2625
3 35 21.854
4 45 24.0165
> 30 13.683
Total Present VValues
86.363
(X PV)

NPV = Z PV — Il = = 86363 - 85 = 1.363 thousand dollars



C- IRR is the discount rate when NPV Z0. Mathematically. The solution to problems
involving IRR is by a trial-and-error solution

> s =t
< [(1+1RR) ¢ B
25 35

45

30

A+IRR): " (1+IRR)2 T(A+IRR)3 ' (A+IRR)*  (1+IRR)S

Trial and Error:

Second trial, IRR, = IRR; [1 + (
IRR; LHS RHS IRR;
0.20 79.707 85 0.188
0.19 81.839 85 0.183
0.18 84.055 85 0.178
0.18
IRR = 18%

+| =85

LHS — RHS)]

RHS
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